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QUESTION 1

In Report Studio, which variable requires the author to create values?
A. Style

B. String

C. Boolean

D. Language

Correct Answer: B

QUESTION 2

In Report Studio, an author creates the following report:

Product line ! Product fype | Revenus

<Produck line>  =Product tvpe>=  <Revenue:
<Produck line>  <Praduck tvpe=  <Revenles
<Produck limes=  <Praduck tvpe =  <Revenues

The author wants the report to show the total revenue generated by each Product line. How can the author accomplish
this?

A. In Query Explorer, change the Rollup Aggregate Functon property for the Revenue data item to Total.

B. In Query Explorer, change the Rollup Aggregate Functon property for the Product line data item to Total.
C. In the layout, group the Product line column and then add an aggregate row showing total revenue values.
D. In the layout, group the Product type column and then add an aggregate row showing total revenue values.

Correct Answer: C

QUESTION 3
Which statement about the tabular data retrieved by Report Studio queries is true?
A. Tabular data includes a column for each data item in the query. No grouping is applied to the tabular data.

B. Tabular data includes a column for each data item in the query. Grouping applied in the report layout is also applied
to the tabular data.

C. Tabular data can only include columns for data items that appear in the layout. No grouping is applied to the tabular
data.
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D. Tabular data includes a column for each data item that appears in both the query and the layout. Grouping applied in
the report layout is also applied to the tabular data.

Correct Answer: A

QUESTION 4

An author creates a report for burstng. In Report Studio, the author sets the burst type for the report to Directory entries.
In Cognos Connecton, the author sets the run optons to burst the report and send the report by email. If the email
addresses for the burst recipients are accessible by IBM Cognos BI, what is the expected result?

A. The report is burst to email addresses only.

B. The report is burst to both email addresses and directory entries.

C. The report is burst to directory entries only.

D. A warning message appears indicatng a confict in the run optons.

Correct Answer: B

QUESTION 5

In Report Studio, an author wants to conditonally format a list report according to the revenue generated by each
product line. The Revenue data item does not appear in the list report but is contained in Queryl.

Which of the following must the author do in order to apply this conditonal formatng?
A. Make the Revenue data item a property of Queryl.

B. Make the Revenue data item a property of the List object.

C. Make the Revenue data item a property of the Page object.

D. Make the Revenue data item a property of the Variable object.

Correct Answer: B

QUESTION 6

In a Report Studio report, to add white space around text within a block, which of the following propertes must be set to
the block?

A. Positoning
B. Size and Overfow
C. Padding

D. Margin
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Correct Answer: C

QUESTION 7

In the image below,

Product type Reverue % of Total Revenue |

Camping Equipment

Cooking Gear 83,917,515.27 6%
Lantermns 40,439,357.685 b )
Packs 111,009,5558.31 7%
Slesping Bags 98,164,939.4 7%
Tents 166,851,052 11%
Lamping Equipment 500,382,422 83 33%

the last column calculates the percentage that each Product type contributed to the overall revenue. What is the
calculaton in the last column?

A. percentage ([Revenue])

B. percentage ([Revenue] for Product type)
C. percentage ([Product type] for [Revenue])
D. percentage ([Product type])

Correct Answer: A

QUESTION 8

The following steps are used to create an agent in Event Studio. Which sequence logically orders the items from frst to
last?

1.

Add a task

2.

Schedule the agent

3.

Specify an event conditon

4,
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Specify the task executon rules
A.1,23,4
B.1,3,4,2
C.3,14,.2
D. 34,12

Correct Answer: A

QUESTION 9

In Report Studio, a block object contains a text item in the page header. If the author reuses the block in the page
footer, which of the following is true?

A. The author can replace the child object with an object of a diferent type.

B. The author must replace the child object with an object of the same type.
C. The author can replace the parent object with an object of the same type.
D. The author must replace the child object with an object of a diferent type.

Correct Answer: A

QUESTION 10

In Event Studio, which of the following tasks are available to a report author?
A. Run an agent

B. Run an export

C. Run an import

D. Run an index update

Correct Answer: A
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